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1. Page 207: 6.1, 6.5

2. Use a stack to write a method that accepts a BigInteger and returns its “reverse” BigInteger. For instance: reverse(5645431) returns 1345465, reverse(1200) returns 21 (no strings attached…() pseudo-code acceptable, hard coding preferred.
3. Programming: An inversion in a permutation is a pair of entries which are “out of order” that is ai > aj while i < j.  For instance, the permutation [4, 1, 3, 2] contains 4 inversions. Add to your permutation class a method that counts the number of inversions in a permutation. 

Write a driver that produces 1000 permutation of order 500, for each permutation count the number of inversions; calculate the average number of inversions per permutation. Repeat the same for 1200 permutations of order 156 and 2000 permutations of order 100.

4. Write a method that accepts a queue and reverses it. The method should not depend on the queue implementation. Design a simple way to test your method so that it will be easily verified by a user.







